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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.60 57.839 | L | 000 ~ 0.00| 1.59 8.05 Zzh s 1.00 | 5.00 ~ 5.00 57.39 | =R | 5.00 ~ 5.00 )| 1.69 8.05
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 6.67 84.15 | FnLst | 000 ~ o0.00|1.75 8.83 ZzhLs 1.00 | 5.00 ~ 8.03 84.15 | #hS | 65.00 ~ 803 |1.75 8.83
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — -~ — — |3mZE#BZ B - ~ — — —
ZzhnLst 1.00 | 0.00 ~ b6.44 67.92 | NS | 000 ~ 0.00| 1.69 8.6 ZzhnLst 1.00 | 5.00 ~ 5.97 67.92 | EnLS | 6,00 ~ 5.97 | 1.69 8.66
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 5.05 62.88 | =L | ooo ~ o000l 167 8.43 ZzhLs 1.00 | 5.00 ~ 5.42 62.88 | #nLs | 5,00 ~ 542|167 843
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
ZzhnLst 1.00 | 0.00 ~ 598 74.89 | FhLS | 000 ~ 000 1.64 8.28 ZzhLs 1.00 | 5.00 ~ 7.00 74.89 | EnS | 6.00 ~ 7.00 | 1.64 8.28
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
ZzhnLst 1.00 | 0.00 ~ 711 90.37 | #hdst | 000 ~ 000|162 821 Zzhn st 1.00 | 5.00 ~ 9.52 90.37 | #hLS | 5.00 ~ 9.62 | 1.62 821
. 100kN/m#%#BZ25| 1.00| 000 ~ 010 10144 |3mZEBzB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1239 ~ 1278 101.44 |3m&EBZ5 - ~ — — —
zh st 100010 ~ 788 100.00| ThLs 000 ~ 788|194 9.83 zhst 1.00 | 5.00 ~ 1239 100.00 | TnLSY | 5,00 ~ 1278| 1.94 9.83
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — - ~ — — |3mZE#BZ B - ~ — — —
Zzhn st 1.00 | 0.00 ~ 6.67 84.26 | FnLst | 000 ~ 0.00| 1.62 818 ZzhLs 1.00 | 5.00 ~ 8.53 84.26 | =hLS | 5.00 ~ 8563 | 1.62 818
g 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ — — —
Zh st 100|000 ~ 755 96.63 | TnLS | 000 ~ 7.55|1.98 10.00 Zh st 1.00 | 5.00 ~ 1101 96.63 | =N | 5,00 ~ 11.01|1.98 10.00
10 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#8Z % — - ~ — — |3mZE#BZ B - ~ — — —
Zzhn st 1.00 | 0.00 ~ 4.09 51.23 | =S | 000 ~ 409|205 10.36 Zzh s 1.00 | 5.00 ~ 5.00 51.23 | =R | 5.00 ~ 5.00)|2.056 10.36
17 100kN/MZ#B% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
Zzhn st 1.00 | 000 ~ 382 47.97 | #hdst | 000 ~ 382|212 10.74 ZzhLs 1.00 | 5.00 ~ 5.00 47.97 | =R | 5,00 ~ 500|212 10.74
19 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B - ~ — — —
Zzhn st 1.00 | 0.00 ~ 5.08 63.35 | TN | 000 ~ 0.00)| 1.58 7.99 st 1.00 | 5.00 ~ 5677 63.35 | =N | 6.00 ~ 5.77 | 1.68 7.99
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ zhs ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ zh st ~ zhst ~ Zh st ~




